Quiz
Name: ___________________________________________ Pd: ______ Date: _____________


1. _____ Which diagram best represents a polar molecule?

a. 1

b. 2

c. 3

d. 4

2. _____ Atoms of which of the following elements have the strongest attractions for electrons?
a. Al

b. Cl

c. Si

d. Na

3. _____ Which element is most likely to gain electrons in a chemical reaction?

a. Kr

b. Br

c. Ca

d. Ba

4. _____ The P—Cl bond in a molecule of PCl3 is 

a. Nonpolar

b. Polar

c. Metallic

d. Electrovalent

5. _____ The electrons in a bond between two iodine atoms (I2) are shared

a. Equally, and the resulting bond is polar.

b. Equally, and the resulting bond is nonpolar.

c. Unequally, and the resulting bond is polar.

d. Unequally, and the resulting bond is nonpolar.

6. _____ Which species does not have a noble gas electron configuration?

a. Na+ 

b. Mg+2 

c. Ar

d. S

7. _____ As a calcium atom undergoes oxidation to Ca+2 the number of neutrons in its nucleus

a. Increase

b. Decrease

c. Remain the same

8. A neutral atom changes to an ion with a charge of +3 by

a. gaining 3 protons

b. losing 3 protons

c. gaining 3 electron

d. losing 3 electrons

9. _____ What is the total number of electrons in the valence shell of an atom of aluminum in the ground state? 
10. Write the electron configuration for a sodium ion. ________________________

a. Identify the valence shell. _________
+
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1) Cl2	         2) H2	   3) HCl         4) NaCl








